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3- LINE GRAPH
Directions 1-4 : A motorist and a scooterist made a journey of 120 km at the same
time and from the same place. The graph shows the progress of the journey made by
each person.Study the graph and answer the questions.

1. At what time did the motorist meet the
scooterist?
fdl le; ij eksVj lkbfdy okyk LdwwVj pkyd ls feyk\

(a) 10:30 am (b) 10:45 am (c) 10:15 am (d) 10:20

2. What was the speed of the scooterist during
the journey? (in kmph)

dqy ;k=k ds nkSjku LdwVj pkyd dh xfr crk;sa (kmph esa)
(a) 45 (b) 48 (c) 42 (d) 46

3. The scooterist completes the journey (in hours)

(a) 3 (b) 2 (c) 1
2

2
(d) 1

3
2

4. How far from the start, did the motorist met
the scooterist ? (in km)
EkksVj lkbZfdy pkyd IkzkjaHk ls fdruh nwjh ij LdwVj pky d
ls feyk (km esa½

(a) 75 (b) 70 (c) 90 (d) 80

5. The following graph  represents the maximum
and minimum temperature recorded every day
in a certain week. The day on which the
difference between the maximum and
minimum temperature  was maximum is
Ukhps n'kkZ;k x;k xzkQ] fdlh ,d lIrkg esa izfrfnu fjdkMZ
fd;s vf/kdre rFkk U;wure rkieku dks n'kkZrk gSa og fnu
dkSu lk gS ftlesa vf/kdre rFkk fuEure rkieku ds chp
vUrj vf/kdre gS\

(a) Wednesday (b) Saturday

(c) Sunday (d) Monday

Directions 6-7: Study the following graph and answer the questions.

6. If the imports of company X in 2007 were in 2007
were increased by 40% what would be the ratio of
exports to the increased imports

;fn dEiuh X dk o"kZ 2007 esa vk;kr 40 izfr'kr c< tkrk gS]
rks fu;kZr dk c<s gq;s vk;kr ls vuqikr crk;s

(a) 1.25 (b0 1.75 (c) 0.25 (d) 0.75

7. In 2005, the exports of  company X were double that
of company Y in that year. If the imports of
company X during the year were Rs. 180 crores,
what was the amount (in crore Rs.) of imports of
company Y during the year ?

Ok"kZ 2005 esa dEiuh X dk fu;kZr dEiuh Y ls nqxquk gSA ;fn
bl o"kZ esa dEiuh X dk vk;kr : 180 djksM Fkk] rks crk;s
bl o"kZ dEiuh Y dk vk;kr fdruk Fkk\ ¼djksM esa½

(a) 212 (b) 210 (c) 315 (d) 282
Directions : (8-12) : Study the following graph carefully and answer the questions
given below it:

The number of students who joined are left the school in
the beginning of year for six years, from 1993 to 1998.
Initial strength of the school in 1992 = 1500
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8. What was the increse/decrease in strength of the
school from 1994 to 1995 ?

Ldwy dh “kfDr esa 1994 ls 1995 rd D;k deh @of̀) Fkh ?

(1) increase by 100 (2) Decrease by 100
(3) Increase by 200 (4) Decrease by 200

9. For which of the following years, the percentage
rise/fall in number of students left from the previous
years is the highest ?

dkSu ls lu esa] fiNys lky dh rqyuk esa fo/kkFkhZ;ksa dh la[;k
esa izfr”kr o`f) @deh lokZf/kd gS

(1) 1994 (2) 1995 (3) 1996 (4) 1997 (5) 1998
10. How many students were three in the school during

the year 1996 ?

lu 1996 ds nkSjku Ldwy esa fdrus fo/kkFkhZ Fks ?

(1) 1495 (2) 1600 (3) 1550(4) 1700
11. During which of the following pairs of years, the

strength of the school is equal ?

fuEu esa ls fdl o’kZ ds tksMs esa Ldwy dh la[;k cjkcj Fkh ?

(1) 1994 and 1995 (2) 1995 and 1997
(3) 1996 and 1998 (4) 1995 and 1998

12. The number of students in 1996 is approximately
what percent of the number of students in 1994 ?

1996 esa fo/kkFkhZ;ksa dh la[;k] 1994 esa fo/kkFkhZ;ksa dh la[;k dk
yxHkx fdrus izfr”kr gS ?

(1) 85 (2) 117 (3) 95 (4) 103
Directions (13-17) : Study the following graph and answer the following questions:

Following graph shows the centre’s revenue expenditure
(in percentage)
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13. If Rs. 8,000 crore was expended on defence in as
1997-98, find the total revenue expenditure in the
year 1996-97

vxj lu 1997&98 esa lqj{kk esa 8]000 djksM [kpZ gq;s rks lu
1996^&97 esa dqy fdruh jsosU;w [kpZ gqbZ ?

(1) Rs. 57,142 cr (2) Rs. 47,642 cr (3) Rs. 54,442 cr
(4) Data Inadequate

14. Subsidies during 1995-96 is approximately what
percent of the subsidies during 1999-2000 ?

Lku 1995&96 dh lCllfMt lu 1999&2000 dh lcflMht
dh yxHkx fdrus izfr”kr gS

(1) 95% (2) 100% (3) 90%(4) Can’t be determined
15. If the total revenue expenditure in 1997-98 was

Rs. 3,02,537 crore, what is the difference
between the total renenue expenditure on
others and that on defence?
Lku 1997 98 esa VksVy fjoU;w ,DlisUMhpj 3]02]537  djksM Fkk
rks nwljs fMQsUl ij [kpZ gqZ fjosU;w dk varj crkb;s ?

(1) Rs. 18,152.22 cr (2) Rs. 17,182.40 cr
(3) Rs. 60,507.4 cr (4) Can’t be determined

16. The total revenue expenditure on grants of
state and Uts is what percent of the interest
payment in the year 1996-97 ?
jkT; o ;wŒVhŒ,l ij xzkUVl ij [kpZ dqy fjosU;w lu
1996&97 esa bUVjsLV isesUV dk D;k izfr”kr gS ?

(1) 225% (2) 80% (3) 44.45% (4) 36.45%
17. If the total revenue expenditure on others in 1998-99

is Rs. 47,781 crore then what is the approximate
revenue expenditure on grants to state and Uts in the
same year ?

vxj lu 1998&99 esa nwljs ij [kpZ dqy fjosU;w 47]781 djksM
Fkh rks jkT; o ;wŒVhŒ,lŒ dh xzkaVl ij yxHkx fdruh jsosU;w
[kpZ gqbZ ?

(1) Rs. 52,270 cr (2) Rs. 59,250 cr (3) Rs. 60,240 cr
(4) Rs. 58,540 cr

Directions (18-22) : Study the following graph and answer accordingly:

uhps fn;s xzkQ dks i<dj iz”uksa ds mRrj nhft,

The following graph shows the percent profit of a
company and its expenditure (in Rs. lakh) over the

years
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18. In which of the following years was the amount of
profit the maximum ?
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fdl o’kZ esa ykHk dh jde lokZf/kd Fkh ?

(1) 1996 (2) 2001 (3) 1998 (4) 2000
19. Approximately what was the average income of the

given years (in lakhs) ?

lHkh lkyks dh vkSlru vk; yxHkx D;k Fkh ¼yk[k esa½ ?

(1) 170 (2) 160 (3) 180 (4) 150
20. In which of the following years was the

percentage increase/decrease in percent profit
from the previous year the maximum ?
fdl lky esa ykHk esa izfr”kr of̀)@deh fiNys lky dh rqyuk
esa lokZf/kd Fkh ?

(1) 1997(2) 1998 (3) 1999 (4) 2000
21. What was the income in 2002 (in Rs. lakhs) ?

2002 esa dqy vk; D;k Fkh ? ¼yk[k esa½

(1) 110 (2) 230 (3) 220 (4) 210 (5) None of these
22 If the profit percentage in 1998 had been 40%,

what would have been the income in that year
?
vxj 1998 esa ykHk izfr”kr 40 izfr”kr jgh gksrh rks ml o’kZ esa
vk; D;k gqbZ Fkh ?

(1) Rs. 182 lakhs (2) Rs. 175.50 lakhs
(3) Rs. 190 lakhs (4) Rs. 180 lakhs

Directions (23-27) : The graph shows the ratio import and export of two
companies, A and B, over the given years. Study the graph and answer the
questions.

fn;k x;k xzkiQ nks daifu;ksa A ,oa B ds fn;s x;s o"kks± esa muds vk;kr ,oa fu;kZr
dk vuqikr n'kkZrk gSA xzkiQ dk vè;;u djsa ,oa iz'uksa dk mÙkj nsaA

23. In how many of the given years were the
imports of company A more than its exports ?

fdrus o"kks± esa daiuh A dh vk;kr ml o"kZ blds fu;kZr ls

vf/kd jgh gS \

(1) 7 (2) 4 (3) 3 (4) 5 (5) None of these
24. In how many of the given years were the

exports of company B more than its imports ?
fdrus o"kks± esa daiuh B dks fu;kZr ml o"kZ blds vk;kr ls
vf/d jgh gS \

(1) 3 (2) 2 (3) 5 (4) 1 (5) None of these
25. If the exports of company A in 1999 and 2000

taken together were Rs. 72 crore then, what
were the imports of the company for the two
years taken together ?
;fn o"kZ 1999 ,oa 2000 esa dqy fu;kZr :- 72 djksM+ Fkh] rks
mu nks o"kks± dk dqy vk;kr fdruk Fkk \

(1) 80 crore (2) 65 crore
(3) 57.6 crore (4) 90 crore
(5) None of these buesa ls dksbZ ugha

26. The exports of company B with relation to
imports were maximum in which year?
fdl o"kZ daiuh B dh fu;krZ blds vk;kr dh rqyuk esa lcls

vf/kd Fkh \

(1) 2002 (2) 2004
(3) 1999 (4) 2001
(5) None of these buesa ls dksbZ ugha

27. If the exports of company B in the year 2003
were Rs. 77 crore, then, what were the imports
of the company in the years ?
;fn daiuh B dh fu;krZ o"kZ 2003 eas :- 77 djksM Fkh] rks mlh
o"kZ daiuh dh vk;kr D;k Fkh \

(1) 86 crore (2) 107. 5 crore
(3) 103. 5 crore (4) 101 crore
(5) None of these


